Traduire par une phrase chacune des égalités suivantes sans utiliser le mot "égal", sans utiliser de symboles.

	
	
	

	1
	6 + 5 = 11
	

	2
	15 = 3 × 5
	

	3
	3 × 7 + 2 = 4 × 6 - 1
	

	4
	3 =EQ \s\do(\L(  ))

	

	5
	EQ \s\do(\L(  ))
=EQ \s\do(\L(  ))

	

	6
	13 = EQ  \R(169)
	

	7
	- EQ  \R(36) = -6
	

	8
	1 m = 100 cm
	

	9
	1 dm3 = 1 L
	

	10
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A = L × l
	

	11
	
	

	12
	(AB) = (CD)
	

	13
	AB = CD
	

	14
	É = {0 ; 1 ; 2 ; 3 ; 4 ;…}
	

	15
	f(x) = 2x + 3
	

	16
	AB = 5 cm
	

	17
	(a + b)² = a² + 2ab + b²
	

	18
	a = 10
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�EQ  \o(\s\up2(Ä);AB)� = �EQ  \o(\s\up2(Ä);CD)�








